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(1 O public class Testl { public static void main(String[] args) {//
TODO U OO OOOOO }publicvoid f1() {
System.out.printin(*f1"). }//0 000 00 O 0O O O public final
void f2() { System.out.printin("f2"). } public void f3() {
System.out.printin("f3"). } private void f4() {
System.out.printin("f4"). } } public class Test2 extends Test1 { public



void f1(){ System.out.printin("Test1J O O O f10J 0O OO I"). } public
static void main(String[] args) { Test2 t=new Test2(). t.f1(). t.f2(). //
OJ000000o00d0finalD O tf30)./000000000
Ooo/af0./00000000000000 }}30finaltdl
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[1 [J package org.leizhimin. public class Test3 { private final String
S="finalld OO OO OO S". private final int A=100. public final int B=90.
public static final int C=80. private static final int D=70. public final
INtE.//final0 0,0 0000000000000 public
Test3(int x){ E=x. } /** * @param args */ public static void
main(String[] args) { Test3 t=new Test3(2). //t. A=101. //0 I ,final
OJO000o0oooooooo /B=91.//00 finalD OO OO
JO0oooooo/c=81//O00fnmd00000000O0O
OO0 /D=71//00 find 000000000000
System.out.printin(t.A). System.out.printin(t.B).
System.out.printin(t.C)./0 0000000 O0OOOONO
System.out.printin(t.D). /0 00 0000O0OOO0O0O
System.out.printin(Test3.C). System.out.printin(Test3.D).



//System.out.printin(Test3.E). //UJ O ,00 O EO finalld O ,00 O O O
0000000, System.out.printin(t.E). Test3 t1=new Test3(3).
System.out.printin(tL.E). /ffinalD O DO EOD OO OO OO OO
[I } private void test(){ System.out.printin(new Test3(1).A).
System.out.printIn(Test3.C). System.out.printin(Test3.D). } public
void test2(){ final inta. //finalJ O ,0 0 O 0 O 0O O O O final int
b=4.//0000--fineld 00000000 finalintc. //finald
O,0000000.a=3.//a=4.00,0000000./b=2.01
O,0000000.3}0finadld0 0 ODO0O00O0OOfinald OO
JodododododouououoUotdndpublic
class Test4 { public static void main(String[] args) { new
Test4().f1(2). } public void f1(final int ){ //i . //iJ finalO O O ,0 O
00000, System.out.print(i). } } 100Test 1 D O O OO O O
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